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MiddléSchool Scholarship Examination

Time : 25 Min. English (Set 1) Marks : 40
Unit : Writing words using given clues |
01) Choose the correct option for

the given picture.

1) The man is cutting sapling ‘

2) The man is cutting tree.
3) The man 1s watering tree.
4) The man is climbing.

02) Choose the correct option for the given picture.

1) The batsman hit six.

2) The batsman hit four.

3) The bowler hit six.

4) The bowler has taken wicket.

03) Select the proper picture for cardgame. -

1)

b

04) Which of the following option is not regarding to school?

4 |-




UCHIAET WA e (§Uft) greay - radt o)

05) Rcarmngt the given letters to form correct word. I

rscasdtihl

1) sdsclass 2) thirdscals 3) thirdaclss 4) thirdclass

06) Choose the wrong pair from the given alternatives,

07)

08)

09)

10)

; e N\ e

Tt

1 2) 3) 4)
Odd man out

1) - 2) 3) 4)
Which of the following colour is not found in rainbow?
1) yellow ~ 2) green 3) blue 4) black
Which of the following action is wrong. (Choose two appropriate options)
1) cutting green tree 2) spitting everywhere
3) walking on zebra crossing 4) nding bicycle

Which of the following picture does not suit with given season.

1) 2) | WY & -
Sy, |
i WJ [, B

3) 4) \W«)LM"T .
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11) Choose the correct picture of a singer.

» Jl

’i" ' D
&\ ( B,

%

L

)

2)

3) 4)

12) Choose the correct description for the given picture.

1) setofkeys

2) bunch of keys
3) bundle of keys
4) pair of keys

13) Which meaning can we get from the giv,én picture?

y 1) The pen is mighter than sword.

|  2) The sword is mighter than pen.
3) The pen is smaller than sword.
4) The sword is attractive than pen.
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15) The man does not bear -
iﬁ 1) nose
P 2) eyes
3) forehead
4) tail

16) Which of the following weapon can be used for cutting cucumber?

1) 2) 3) 4)
17) Which of the given picture is related to covid-19?

(Choose two appropriate options)

2M
—
" 6 feet

1) Z) 3) 4)
18) Which among the following options are sweet in taste?

. (Choose two appropriate options)
l)sugar 2) curd 3) Chllll 4) Jllebl

19) Which of the following options are not related to kitchen?

(Choose two appropriate options)

1) pan 2) bat 3) axe 4) gas
20) Choose the correct pair from the given options.
I) bat - bag

2) mobile - charger 3) lock - hand 4) pen - ball
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' Middle School Scholarship Examination

Time : 25 Min. English (Set 12) Marks : 40

Unit : Types of Sentences

01)

02)

03)

04)

05)

06)

07)

08)

09)

10)

Choose the correct type of given sentence. “Where are you?” she asked.

1) Exclamatory sentence 2) Imperative sentence

3) Assertive sentence 4) Interrogative sentence

Which part of speech will you use to make imperative sentence in the begin-

ning? :

1) noun 2) verb 3) conjuction 4) pronoun

Choose the correct exclamatory sentence from the given alternatives.
(Choose two appropriate options)

1) Where is the ball? 2) What a great job he has done!
3) “Why are you crying?” Rajani asked to Leela 4) What a pity!
Odd man out. :

1) Where is the book? 2) What is that?

3) I am Lucky. ' - 4) Why are you going there?

Choose the assertive sentence from the given alternatives.
1) Bring that chair here. 2) Come fast. 3) Catch the ball.  4) I am here.
How many imperative sentences are there in the given paragraph.

Come here. I am going there. Are you listening me? Where is your attention?
Come fast. Raju is coming with us. Snap it up. [ am saying that. Hurry up.

1)2 2)3 3)4 4)5

Choose the exclamatory sentence from the given alternatives.

1) How nice you are looking! 2) You are looking very nice.

3) How you are looking? 4) You are not looking best.
Choose the grammatically correct sentence from the given alternatives.
1) Do Raju completing her task? 2) Does Raju complete his task?

3) Did Raju Complete her taks? 4) Do Raju completed his task?
Odd man out. |
1) Geeta likes an apple. 2) Geeta like an apple.
3) Geeta liking an apple. 4) Geeta likes a apple.
Your friend is going somewhere. Which question will you ask? '
(Choose two appropriate options)
1) Where are you going? 2) Who are you going? ‘
3) When will you come? 4) How much are you going?
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11) Choose the correct question for the g given sentence.
Raj is reading a novel.
1) How is Ray doing”? 2) What is Raj doing?
3) Where is Raj reading? 4) Why is Raj reading”

f)
12) How many imperative sentences are there in the given paragraph

Neeta is excellent in |IL|dII]1._’ and bdttmg, She is good bowler too. She also
opens while batting.

1) two 2) one 3) three 4) zero
13) Choose the correct statement from the given alternatives.
1) Were they watching T.V.? 2) Give me that spectacle.
3) She was talking, 4) What a nice job!
14) Choose the interrogative sentence from the given alternatives.
1) I am going to picnic. 2) You are too late today.
3) I'am playing cricket. 4) Where is the mobile?

15) Choose the correct option which does not match the situation.
Vijay is selected in Indian team. ,
I') Congrats Vijay! 2) Well done Vijay!
3) You are not lucky Vijay. 4) Excellent!

16) Choose the option which does not match the situation.
Vishal become a pilot.

1) You did not do well. 2) Welldone
3) Excellent 4) Amazing
17) Choose the correct imperative sentence from the given alternatives.
I') Catch it properly. 2) Where is the note-book?
3) I am happy. 4) Are you coming with me”?
18) Which of the following is not a statement?
I') Vimal is reading a book. 2) She is watching T.V.
3) Run fast. 4) Rani is cooking tood.
19)  Which of the following is not an interrogative sentence?
1) Where do you go? 2) Hurry up.
3) Where 1s my pen? 4) When will you come?

20) How many interrogative %entenccs are there in the given pamgraph 1

p—

" Shall | come there? Where are you going? 1w ant to come with you. Come
| fast. You can come. Run fast. Why are you slow”
L

1)3 2)4 3) 2 4)5
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